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QUESTION 1

A user is performing a material return transaction against excess stock in an Inventory organization;
however, the user fails to select the Physical Material Return Required check box.

What happens?

A. A transfer order line remains open

B. Shipment lines are created

C. Stock is reserved

D. It is considered as accounting-only return

Correct Answer: D

QUESTION 2

Your customer is managing a large sales team divided in two different geographies in the USA
They have the East Coast sales team and the Central sales team. Both teams are handled by one
manager and perform the same function.

You customer wants to track the expenses of the two teams separately; however, they do not consider
them different as they are handled by one manager only.

How will you fulfill the requirement?

A. Define them as one department and one cost center.

B. Define them as a single department and two separate cost centers.

C. Define them as two separate departments and a single cost center.

D. Itis not possible to fulfill the requirement.

Correct Answer: B

QUESTION 3

Material is transferred between two subinventories within an organization via transfer order. The setup is complete and
the transfer order is created through the FBDI process. What is the primary interface data that needs to be completed in
the template?

A. INV_TRANSACTION_LOTS_INTERFACE
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B. INV_SERIAL_NUMBERS_INTERFACE
C. INV_SUBINVENTORY_TRANSFER

D. CST_I_INCOMING_TXN_COSTS

E. INV_TRANSACTIONS_INTERFACE

Correct Answer: E

QUESTION 4

While creating the consignment agreement, you have set the consumption advice frequency to "monthly” and the billing
cycle close date to "31st August, 2020".

What will happen when you run the consumption advice process on 31st August, 2020?

A. Consumption advice is created and the next closing date is set to 30th October, 2020.

B. No consumption advice is created.

C. Consumption advice is created and the next closing date is set to 30th September, 2020.
D. Consumption advice is created and the next closing date is set to 7th September, 2020.

Correct Answer: C

QUESTION 5
Which three statements are true regarding PAR Location Management?

A. If the stock level falls below the target on-hand quantity for the locator, inventory generates the appropriate
replenishment document based on the item sourcing for the subinventory.

B. PAR location management replenishment are calculated at the organization level or subinventory level.
C. Areceipt is required on interorganization expense destination transfer orders between the from and to organizations

D. Periodic Automated Replenishment (PAR) enabled facilities that do not store perpetual inventory (such as hospitals)
to perform locator-level replenishment.

E. Organizations can perform locator-level stock counting for both quantity and non-quantity tracked subinventories.

Correct Answer: CDE
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